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ZAt-1 iggﬁ%\%f%%/ s LESa AT T BT L PN 3,190,000 %ﬁ@%gﬁwxﬁ%ﬁ 3,030,000  94.98%
ZRt-2 MIE2089 51 A MGEMIERFHEB RFE WA TR H N 4,300,000\ k& AET 77 ik 4,080,000|  94.88%
Zit-4 gﬁgg%gﬁf@gﬁﬁ%ﬁ%ﬁ% oA IRT AT F HeN 6,990,000 ;gi;fgﬁé%ﬁ%ﬁ 6,640,000  94.99%
ZRt5 géf ACGHAETIRARTZRE (ABUR =R ek o o)1 a4 3,790,000 Kk A7 & B B 3,600,000  94.99%
ZRt-6 i}iigﬁ FHRE (DHERERFE) WA 7 HBTHIPN 3,930,000 Ei‘f‘fj@jﬁfﬁﬁ i 3,730,000  94.91%
ZeRt-T TH 7K R Bt A M A s 2t WA TR ARET 1,940,000 E?ﬁg@@f%&ﬁ 1,840,000  94.85%
%58 THE2091 58 T HIEHM R &Gt WA TS S BT A0 940,000 f‘}ﬁéﬁ?%ﬁi%ﬁ% 844,000  89.79%
ZFE9 WAL 2 —PEEHIM BREEHFAT AT LR Hi N4 850,000 7 B2 Fh A5 ik 815,000  95.88%
ZFE-10 ??@%ﬁ%ﬁ%ﬁ%@%?’%j}%(l'z' AT £ 3 P BT HEPY 4,370,000 55— 7 7 UkkR 1L 4,170,000|  95.42%
ZRE-11 ?;kgi%tm&*'gﬁ%@%%j}% (@-7: WA TS 45 PN HT HiE PN 5,800,000 B> #1R8 M &R oA 5,580,000|  96.21%
FRt-12 %ggﬁﬂ#y@%ﬁ&%¢w&%ﬁéﬁ¥ WA TR T 5 N 5,200,000 47 PR & HEAR I 1 4,980,000  95.77%
ZE-13 ?’j@f}“ﬂfﬁg@?@*zjéiﬁ%%%%f&%) WA IS RTINS 6,900,000 47 PR AU E 6,600,000  95.65%
Zt-14 %;ﬁgﬁﬁgﬁﬁf };?@)ﬁ%%%%?gﬁ% WA H T H P9 o4 4,590,000 |47 [R2 & FH & [ 4,360,000  94.99%
Ft-15 MR L AT IR R D8R okt T 1T B P 3,170,000 #7 B2 KL VA e A 3,080,000  97.16%
Z5t-16 %ﬁ%ﬁ%ﬁgiﬁfﬁﬁ%ﬁéﬁ% WA T P9 o4 3,710,000| A PR AL A P 3 3,520,000|  94.88%
FRt-17 B AHEICHS 7 A BB A SR SRR Rt WA AT 3T H sk 3,880,000| A PR AL B A P 4 3,680,000  94.85%
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Z7E-18 %ﬁg%ﬁﬂf %i?ﬁiﬁ%é%ﬁ% WA T T HHT P ot 2,520,000 A PR LRI 1 R oA 2,420,000  96.03%
ZRE-19 %ﬁf&?ﬁ@%**ﬁﬁ%iﬁ%ﬁ% WA T A ARET H P 44 4,830,000 A PR FE e g+ 4,580,000  94.82%
Z7E-20 %iﬁggﬁ%ﬁ%gﬁi%ﬁﬁéﬁ% WA T TERHTHI PN 3,350,000 f PR 2> HAB A 3,220,000  96.12%
ZRt-21 %ﬁ%%ﬁﬁiﬁjﬁgfﬁg*ﬁ%ﬁ? WA TG L T P ot 3,030,000| A FR2 - & F 3 2,870,000  94.72%
Z7E-22 H T B AR R E B BRI H R WA WA « I« ] i sk 2,520,000(% —7 7 Uk 1t 2,380,000  94.44%
%723 (PO SURTA S NFRRRBETECOL g fertrkopnr 6 5 1 Haps 41 1,180,000 HT i 3[40 1,130,000  95.76%
ZRt-24 gi%ﬁﬁgfﬁfﬁﬁ’%éﬁ% A T RSP HT A S 2 P 44 1,710,000 =% 3£ 3 1,620,000  94.74%
%5625 gi%ﬁﬁﬁi/ﬁi%&ﬁfﬁféﬁ% WA T RSEHT B = P 44 1,000,000\ #k Az th =S —E'2 960,000  96.00%
Z:it-26 %ﬁé%ﬁﬁjﬁoyjzk RN A3 AN T R ] 350 2 32 P 1,580,000 kAt Af 1,540,000  97.47%
ZRE-27 BB AT BER LG 201 WA EHIRT 2T B Hipy 4t 3,990,000 f BR 2> HAB A 3,870,000  96.99%
Z7E-28 MEBAE BB LGE £D2 WA BEHT N £+ 4,400,000 A7 PR A% VA 1 4,290,000  97.50%
ZRE-29 MEBAE BB LGE £D3 WA T E T T P44 1,530,000| 55— 7 7 Uikt 1,450,000  94.77%
Z7E-30 MEBAE BEBLGE £04 WA T8 h ] P 44 4,910,000 (A PR+ FH & 4,660,000  94.91%




